ECUACIONES TRIGONOMETRICAS

Resuelve las siguientes ecuaciones trigonomeétricas, indicando todas sus posibles soluciones:
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l.senx:E 2.4cos’x =3
3.tgx=1 4. sen2x = cos30°
5. sen(x+45°) = 12@ 6. sen2x-cos2x =0
B me = A 2 “zul o —
7. 2cosx = 3igx ‘ 8.sen“x—cos x = 5
9. 1gx-secx = \/5 : 10. 1g2x = —1gx
H. 4tgx-coszx$«[§» -12. 3casx =2secx-5
13. tg’ XToOSE=2 t4. sen(x +30°) =cos(x+60°) -

A, = S ‘ 1
I5. cos2x+5¢cosx+3=0 = ' 16, sen2x—-c_osx+5:=senx

17. sen 2%-cosx = 6sen3 X 18. éosi)c# sér_i X = 215611’ x
19. cosx(1+tg2x) =2fgx  20.senx+cosx = ———00
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21, senx +cosx = | . " 22 sen2x = cosx
23. cos2x+3senx = 2 24. COSX - COS2X +2 o8 x=0
25; ctgx— tgx =x/ﬁ ‘ . 26. senx.+ c‘o:s'2xv:: 1
27. édéSg@f cos3x = v/2 cos4x =28 4(:_6525: + 3663); =4
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. 29. cos2x+senx =4sen’ x 30. cosx +sen> 5 =1

31. cosx —senx = sen3x 32'T cos2x +6cos? x: 1
33, son(d$¥+2x) = {i g AR e b
35. cé)_st = poSﬁx = séh-Sx +sen3x 36. senSx =sen3x—senx

37.senx+v3cosx=2



